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Plot the missing coordinate to | | Plot the missing coordinate to | | Plot the missing coordinate
make a right-angled triangle. | | make an isosceles triangle. to make a scalene triangle.
Complete the drawing Complete the drawing Complete the drawing

and write the missing and write the missing and write the missing
coordinate( , ). coordinate( , ). coordinate( , ).
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Plot the missing coordinate | | Plot the missing coordinate | | Plot the missing coordinate
to make a parallelogram. to make a trapezium. to make a kite.

Complete the drawing Complete the drawing Complete the drawing

and write the missing and write the missing and write the missing

coordinate[ , ).

coordinate ( A

coordinate( , ).




10 10 10

: ; EEBNEBEE
8 O 8 O——0 8

7 7 T -Zl'

6 [ ) (> b

5 O {r 5 5

4 4 . fo —C <

3 3 3

2 O 2 2 L

1 1 1

0 12 345 67 891w||lo 123 4567 8910||0 123454678910
Plot the missing coordinate Plot the missing coordinate Plot the missing coordinate
to make a pentagon. to make a hexagon. to make an octagon.
Complete the drawing Complete the drawing Complete the drawing

and write the missing and write the missing and write the missing
coordinate ( , ) coordinate ( . ). coordinate ( : ).




